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$\int_a"b f(x) dx$

\[ \int_a"b f(x) dx \]
\begin{equation}
\int_a"b f(x) dx
\end{equation}



AN
X} MD|

—5,9,0.666, V2, 7, /=32, i
—5.,9,0.666, V2, 7, V=32, i

\documentclass{article}
\begin{document}
$-5, 9, 0.666, \sqrt{2}, \pi, \sqrt[3]{-32}, i$

\[ -5, 9, 0.666, \sqrt{2}, \pi, \sqrt[3]{-32}, i \]
\end{document}
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(a+ b)* = a® + 2ab + b°
(a—b)? = a® — 2ab + b*
(a+b)x(c+d)=axc+axd+bxc+bxd

a+b=q -1

\ [

(a+b)"2 = a2 + 2ab + b”2
\]

\ [
(a-b)~2
\]

\ [
(a+b)\times (c+d) = a\times c + a\times d + b\times c+ b\times d
\]

\ [

a \div b = q \quad\cdots r

\]

a”2 - 2ab + b72
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\ [

\frac{355}{113},\quad a~{n+1}, 2°{2°{272}}\quad \sqrt{2}, \sqrt[3]1{2},
—  \sqrt{\sqrt{\sqrt{2}}}

\]

\[

2+\cfraci{2+\cfrac1{3+\frac{1}{2}}}

\]
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10+ [{5 x (2+3)} — 20]
[5:)
\ [

10 \div \left[ \left\{ 5 \times \left( 2+3 \right) \right\} - 20 \right]
\]

\[

\left[\frac{\pi}{2}, \infty\right)

\]



1l

I
M
fot

N,Z,R
z € R\ {0}, 0, o
\usepackage{amssymb}
\[
\mathbb{N}, \mathbb{Z}, \mathbb{R}
\]
\[

x \in \mathbb{R}\setminus\{0\}, \qquad \emptyset, \varnothing
\]
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$a"ma"n = a“{m+n}$
$a_{n+1} = a_n + d$

$a”"n = \underbrace{a \times a\times \cdots \times a }_{n}$
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(fTtog™h) (1)

\[
\left( £7{-1} \circ g~{-1} \right) (1)
\]



12a36=%  12a® - a2

4a2b  4b- b4
_ 3a*
B2
\ [
\begin{aligned}

\frac{12 a~3 b {-4}}{4a"2 b} &= \frac{12 a~3\cdot a2 } {4b \cdot b~4} \\
&= \frac{3a"4}{b"5}

\end{aligned}

\]



=2

[tot
Ox
=l

cases t brace

a, a>0
|af =
—a, a<0.
ar+by=p
cr+dy=q
\ [
\left\vert a\right\vert = \begin{cases}
a, & a \ge 0 \\
-a, & a<o0.
\end{cases}
\]

\ [

\left\{
\begin{aligned}

& ax + by = p \\

& cx + dy = q
\end{aligned} \right.
\]
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N 2a

\usepackage{mathtools,amssymb} mathtools: amsmath ZEIT

\ [

\begin{aligned}

&ax"2 + bx + ¢ = 0 \:\: (a\neq 0 ) \\
& x= \frac{-b \pm\sqrt{b~2-4ac}}{2a}
\end{aligned}

\]

> align,aligned,alignedat, ...



ag:2—|—bx+C:0 (G#O)

L, —bE VP —dac
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log, b

log, b= 8e?

log, a
Inz=-_
nw 3

elnz — 6_1/2

\ [

\log_a b = \frac{ \log_c b } { \log_c a }
\]

\[

\begin{aligned}

\1n x &= -\fraci2 \\

e"{\1n x} &= e {-1/2}

\end{aligned}

\]
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\ [
\begin{split}

\sin x &= \sum_{n=0}"{\infty} \frac{(-1) n}{2n+1} x"{2n+1}
&= x- \frac{x"3}{3!}+\frac{x"5}{5!}+\cdots

\end{split}

\]

\\
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1PQl| = v/{a—2)2 + (b—y)?

) <11~v>
wi =proj,u= | ——= | v
v (v

\[
\| \overrightarrow{PQ} \| = \sqrt{(a-x) 2+(b-y) 2}
\1]

\ [

\mathbf{w}_1 = \operatorname{proj}_\mathbf{v} \mathbf{u} =

< \left (\frac{\mathbf{u}\cdot \mathbf{v}}{\|\mathbf{v}\|~2} \right)
— \mathbf{v}

\]



\ [

\det (A) = \begin{vmatrix}
a & b \\

c & d

\end{vmatrix}

= ad -bc

\]
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\[
f'(x) = \lim_{\Delta x\to 0 } \frac{ f(x + \Delta x) - f(x) } { \Delta x }
\]

\ [

\int_a"b f(x)\,dx = \lim_{n\to\infty}\sum_{k=1}"n f(x_k) \Delta x \quad

—  \left (\text{Eh,}\; x_k = a+k\Delta x, \, \Delta x = \frac{b-al}{n} \right) .
\]
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/e’”cosxdx:excos:v—&—/e’”sinxdm

= ¢e"cosz + ezsinx—/ezcoszzrdx

_e (sin m2—|— COS ) L C

\ [

\begin{aligned}

\int e”x \cos x \,dx &= e"x \cos x + \int e"x \sin x \,dx \\
&= e"x \cos x + €"x \sin x - \int e"x \cos x \,dx \\

&= \frac { e°x (\sin x + \cos x ) } {2 } + C

\end{aligned}

\]



